
SAP ABAP table RESCC_SCKEY {Service Charge Key (TIVSCSCKEY)}

RESCC_SCKEY

MANDT [CLNT (3)]

CREDITGLACCSYMB [CHAR (15)]

MEAS [CHAR (4)]

SETTLVARIANT [CHAR (4)]

SCKEYGRP [CHAR (4)]

T000

MANDT [CLNT (3)]
 RESCC_SCKEY-MANDT = T000-MANDT 

0..N

0..N

TIA01

MANDT [CLNT (3)]

ABRVAR [CHAR (4)]
 RESCC_SCKEY-SETTLVARIANT = TIA01-ABRVAR 0..N

{0,1}
TIVBDMEAS

MANDT [CLNT (3)]

MEAS [CHAR (4)]

 RESCC_SCKEY-MEAS = TIVBDMEAS-MEAS 
0..N{0,1}

TIVRAACCSYMB

MANDT [CLNT (3)]

GLACCSYMB [CHAR (15)]

 RESCC_SCKEY-CREDITGLACCSYMB = TIVRAACCSYMB-GLACCSYMB 

0..N

{0,1}

TIVSCSCKEYGRP

MANDT [CLNT (3)]

SCKEYGRP [CHAR (4)]

 RESCC_SCKEY-SCKEYGRP = TIVSCSCKEYGRP-SCKEYGRP 

0..N

0..N


